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Summative task

Personal and public context
Utilising fencing
You are a member of the local allotment committee and for some time there has been discussion about fencing off some of the allotment acreage to keep livestock. A local farmer has told the committee he has some fencing he will sell at below cost price but as yet has not said what length it will be.
You have been tasked, by the rest of the committee, with finding the best way of using the fence. You investigate three different possibilities and determine the maximum area achievable in each case. You work on the basis that you will have 200m of fencing to use.
1. The 200m fencing is used to make a rectangular plot. You experiment with different dimensions and calculate the area in each case.

2. The 200m fencing is used in conjunction with a long straight wall (the brown line) which runs along one side of the allotments. In this case the fencing forms three sides of the rectangular pen.



As before you experiment with different dimensions until you find the maximum area enclosed.


3. The 200m fencing is used to form a triangular plot in the corner of the allotments with two walls (shown as brown lines) being used as two sides.


 
As before, you experiment with different dimensions until you find the maximum area which can be enclosed.

Your results are based on 200m as stated above but you have developed a formula for each situation so that the area can be calculated whatever the length of fencing used.

How will you present your findings at the next committee meeting? What other factors may be taken into consideration before a decision is reached?
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